Money Back
Guarantee

Vendor:SAP
Exam Code:C BOBIP 41

Exam Name:SAP Certified Application Associate -
SAP BusinessObjects Business Intelligence Platform 4.1

Version:Demo



QUESTION 1

Your report has more records than the value set for "Database Records Read When Previewing or Refreshing" on the
Crystal Reports Processing Server.

What happens when you refresh the report from the BI launch pad?
A. The report returns partial results without a warning message.

B. A user is prompted to edit the report.

C. The report returns partial results with a warning message.

D. An error message is displayed.

Correct Answer: D

QUESTION 2

Which of the following services are assigned to an Adaptive Job Server?
Note: There are 3 correct answers to this question.

A. Web Intelligence Scheduling Service

B. Replication Service

C. Client Auditing Proxy Service

D. Document Recovery Service

E. Publication Scheduling Service

Correct Answer:. ABE

QUESTION 3

Which actions does the Server Intelligence Agent (SIA) perform during start-up? Note: There are 2 correct answers to
this question.

A. Connect to the Auditing Data Store

B. Request a list of servers to manage

C. Start the Web Application Server

D. Start the servers configured to start automatically

Correct Answer: BD




QUESTION 4

Which of the following tasks can you perform using the SAP BusinessObjects Lifecycle Management Console?
Note: There are 2 correct answers to this question.

A. Run and schedule replication jobs on a remote system.

B. Promote Business Intelligence objects from one system to another system in the same version.

C. Back up your Business Intelligence content.

D. Migrate Business Intelligence objects from a previous system version to a new system version.

Correct Answer: BC

QUESTION 5

What is a dynamic recipient?

A. An enterprise recipient to which multiple aliases have been assigned

B. A publication recipient that is listed in an external document

C. A publication recipient that has an alias in the business intelligence platform
D. An enterprise recipient that is assigned to multiple profiles

Correct Answer: B

QUESTION 6

When performing a silent installation, which command line switch do you use to read the installation options from the
response file?

A -l

B. -q
C.r
D.-w

Correct Answer: C

QUESTION 7

You change the title of a Crystal Reports object using the Central Management Console. Where is this change
reflected?

A. In the report file stored on the Input File Repository Server



B. In the log file of the Crystal Reports Processing Server
C. On the Central Management Server system database
D. In the report file stored in the Business Intelligence Archive Resource file

Correct Answer: C

QUESTION 8

What are the benefits of clustering Central Management Servers (CMSs)? Note: There are 2 correct answers to this
question.

A. Enhanced security

B. Automatic backup of the system database
C. Fault tolerance

D. Load balancing

E. Improved throughput for report processing

Correct Answer: CD

QUESTION 9

You want to grant a group of users the right to create, save, modify, and refresh Web Intelligence
documents. You assign View on Demand access to the universes.

For which additional object types must you set permissions?

Note: There are 3 correct answers to this question.

A. Application

B. Category

C. Event

D. Connection

E. Folder

Correct Answer: ADE

QUESTION 10

Which tool can you use to create a Server Intelligence Agent?



A. Central Management Console
B. Central Configuration Manager
C. Lifecycle Management Console
D. Upgrade Management Tool

Correct Answer: B

QUESTION 11

Which tool do you use to configure the Audit Data Store?
A. Repository Diagnostic Tool

B. Wdeploy

C. Upgrade Management Tool

D. Central Management Console

Correct Answer: D

QUESTION 12

Why would you configure a second Server Intelligence Agent (SIA) on the same host?
A. To allow servers to be secured separately

B. To allow servers to run under different network accounts

C. To take over the management of the first SIA\\'s server if it fails

D. To increase the processing capacity of the host

Correct Answer: B
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